14 SHIFT CABLE ASSEMBLY
@\ YAMAHA MODEL BA
' TILLER STEERING

. 1888 SHORT
(19— @ .

11
10
4

QRGO

6 /@
1
g e
-
REF | QTY | PARTNO. | DESCRIPTION
NE 547 1 CABLE 4 1/2 FT MOR 33C SUPREME
ol 1 156 BRACKET CABLE SUPT OMC, MORSE
sl 1 542 SHIM MORSE A035777
4 1 543 . CLAMP CHRYS 154317
5| 4 5584 | PAN HD PHILLIPS 10-32 X 3/4
6| 2 635 1/4 WASHER AN960C416
71 2 572 BOLT HEX HD 1/4-20 X 5/8
s| 4 621 NYLOGC 10-32
9 1 573 BOLT HEX HD 1/4-20 X 3/4
10 1 543 .1 CABLE ANCHOR MORSE 36174
11 3 623 NYLOC 1/4-20
12 1 553.2 BALL END 1/4X10-32 CABLE
13 1 575 BOLT HEX HD 1/4-20 X 7/8
14 1 1252 SHIFT LEVER Z30
15 1 585 BOLT HEX HD 1/4-20 X 1 1/4
16 1 544 1 BALL JOINT MORSE 031799-001

~\1.2~




